4.6.3 Physics Paper 3 (232/3)

L d=0.29mm (1 mark)
a)
29x10*mv
b 3.0V (1 mark)
¢)| | Length L(ml) 0.1 (02 03 04 0.5 0.6 0.7 6 mark
Current 1 (A) 0.72 053 044 0.38 0.33 0.29 27
f
% A7 125 2.00 2.86 333 4.00 5.00 5.56
f)
— (5 marks)
i g
, /V 1
v 0.1 0.2 03 04 05 06 07 )
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g) 6.0-2.0
X

(i) Gradient S = - 10
=30 10y
5.5
_ -1
73mA \/ (3 markS)
(ii) C=0.6N (1 mark)
h | | 4K,
O e
K :7.3><7r><(2.9x104)2><3.0\j 2 marks
= 1.45%107
=1.8 1 mark
QUESTION 2
PART A MARKING SCHEME
c) | (i) Table2 7 marks
U(m) 25 30 35
V (cm) 48 38.8 32.5 3 marks
m=" 093 1299 |1.92 2 marks
U
_v 16.43 1694 |16.84 2 marks
/= 41 +1
d (2 marks)
16.43+16.94+16.84
F(average) = 3 v
= 16.74cm
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PARTB
e d,=3.40cm=3.4x10"m 1 mark
d, =4.33cm=4.33x10"m 1 mark
de = 5.70cm = 5.70x107m 1 mark
F1X=052 = 52x107m 1 mark
j
Pipe A Pipe B Pipe C S marks
Diameter of pipe d(m) | 0.034 0.0433 0.0570
Time for five 13.57 11.11 10.24
oscillations
Periodic time 2.71 2.22 2.05
Z = 0.56 0.53 0.57
</.z(ar -x) _|3(d-x
2 2
0.56+0.53+0.57
Z average = 3 \
2 marks
= 0.55mV
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